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Feedback (1/5)

= Neural Networks
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Feedback (2/5)

= Activation Functions (1/4)
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Feedback (3/5)

= Activation Functions (2/4)

- Activation2| =& : Binary step function, Linear activation function, Non-
linear activation function

= Binary step function Binary Step Function
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Feedback (4/5)

Linear Activation Function

= Activation Functions (3/4)

- Linear activation function
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Feedback (5/5)

= Activation Functions (4/4)

- Non-linear activation function
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Evaluating a model (1/2)

F

jol’

HOolg A

<[1
jol’

ol
Oa

F

O

- F7rHQ OlN 2

gzt Oper0j e e g B

IDEALAB [\CNV]Ze3ammn




Evaluating a model (2/2)

= Train/Validation/Test Sets
« Train : 60%, Validation : 20%, Test : 20%
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Bias & Variance (1/6)

= What is bias?
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= What is variance?
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Bias & Variance (2/6) "

- bias
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Bias & Variance (3/6)

= Regularization and bias/variance

. kT 2AF ALO|O| RS S Q|50 B Elo| Qs A

M=
3= T Ms2

. 1. ®78 TRt0[E 2TH 1000022 0 2 HS
- D E oigt0|H e SOt HEEIE 2ot 7H hy(x) = 6, 1F 2l ZS

-7t Jdejl== ChAa

- B0l =1 HO[H Mo MetotX| @Ha
= 2.8+ Lf2tO|E 702 E Of R A2 87

7tO
HA T

- Szt gl 00| &1

o)

HO|EHE 25+ TEot=s 54

=
- 2At0] =1 ol E Aloj| DpE s

00k

A7 92

Tels

12

IDEALAB [\oN\J]Z&310




Bias & Variance (4/6) °

= Learning curves (1/2)

 High bias
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Bias & Variance (5/6)

= Learning curves (2/2)

 High variance
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Bias & Variance (6/6)
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Precision and Recall (1/2)

= What is Precision and Recall?
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Precision and Recall (1/2)

= Trading off Precision and Recall
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Trees (1/3)
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= What is Decision tree?
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Trees (2/3)

ision

Dec

= Pruning and Ensemble Methods

- Pruning (ZHX|X]7])
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Decision Trees (3/3)

= Impurity
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Random forest (1/2)

= What is Random forest?
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Random forest (2/2)

= Example

- iris data set= AtEot Ztthot 25 &4
= O|O|E| A2 2E3¥D test, train2 £2

'RandomForestClassifier'S AF3I0] 2

'n_estimators’

e x _I_
= (e} ~
= Test [:1| ()l E54 ()1| [:H $2J' ()1| = 3 5
from sklearn.datasets import lcad_iris
from sklearn. model _selection import train_ftest_splif
from sklearn.ensenble import RandomForestClassifier
from sklearn.metrics import accuracy_score

£ irie GIOTE £
iris = lead_iris()
o= iriz. data

y = iris. target

# GINHE S8y HIAS82F s

A_train, d_test,

v_train, v_test = train_test_split(X, v, test_size=0.2,
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# BE EFAE DB A g Bz
rf_model = RandonForestClassifier(n_estimators=100,
rf_mocel. fit(%_train, v_train)

random_state=42)

# B~ E Yo of N oS
v_pred = rf_model . predict (X_test)

# Fgc Fe&
accuracy = accuracy_scorel(y_test,
print{"Accuracy:”, accuracy)

y_pred)
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